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I = 4 1. What are they talking about?
A. Looking for some suitable clothes for a play.
B. Buying new clothes for a play.

l C. Buying out-of-date clothes for a play.
S 2. What does the woman mean?
poe A. The man has mistaken her for someone else.
* : 2 B. She has won the second prize.
C. She’s never fond of singing.
};u 3. What does Mr King want to do?
‘A A. To get in more crops.
n B. To protect the wild forest.
' C. To kill the wild animals.
~ N 4. How many pills should the man take a day?
k — A. 1.
4§ B. 2.
=/ C. 3.
1 5. What will the woman do this evening?
A. Stay at home.

B. Visit her friends.
C. Go to the concert with her husband.
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6. What did the man use to think of Sunny’s cousin?
A. Common.
B. Very beautiful.
C. Gentle.
7. Who is the shortest of the three people?
A. The man.
B. Sunny.
C. Sunny’s cousin.
8. What is the main reason for Sunny’s liking her cousin?
A. Because Sunny’s cousin is very tall.
B. Because Sunny’s cousin is very healthy.

C. Because Sunny’s cousin is gentle and understanding.
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9. How soon will the conference start in New
York?
A.In a week.
B. In a month.
C. The conversation doesn’t refer to it.
10. What will the man do during the coming
conference?
A. Hand in some famous scientists’ papers.
B. Act as the chairman of the conference.
C. Read the report instead of the woman.
11. What can you conclude from the conversa-
tion?
A. The woman must have her own bust
ness.
B. The woman has also been invited to
the conference.
C. The woman must be the man’s secretary.
Wrse S RMAL.HES 12 E 14 &,
12. What did the man telephone Mary for?
A. To buy a present for her.
B. To ask her to help him choose a present.
C. To buy a T-shirt for him.
13. What day is his mother’s birthday?
A. Friday.
B. Saturday.
C. Sunday.
14. Why are they going to the Buy Well De-
partment Store?
A. There will be summer sales there.
B. The goods are very beautiful.

C. The store is very near.
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15. Who had a birthday yesterday?
A. The woman’s aunt.
B. The woman's sister.
C. The woman’s brother.
16. What did the woman do after the birthday
party?
A. She typed a paper.
B. She studied history.
C. She went home to bed.
17. What does the man say he is unable to do?
A. Sleep during the day.
B. Plan a birthday party.
C. Work well under stress.
WreE 10 mafat . B&SE 18 & 20 /4.,
18. How long will the English week last?
A. 5 days.
B. 6 days.
C. 7 days.
19. What is one of the main purposes of the
English club’s video evenings?
A. To improve English.
B. To write film reviews.
C. To gather the members.
20. What will the money for the tickets proba-
bly be used for?
A. Encouraging more people to join the
club.
B. Helping the school to buy video equip-
ment.
C. Supporting those who can’t afford edu

cation.
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{' el 1. When did the man go to bed last night?
A. At about 11 o’clock.
. B. At about midnight.
l C. At about 2 o’clock.
2. What does the man want to do?
: == A. To phone someone.
* B. To talk to the operator.
C. To check his number.

};u 3. What are the two speakers talking about?
LA

A. A book.
. B. A plant.
\II]‘ C. A painting.
4. How does the woman feel?
- A. Relaxed.
ﬁ > & B. Worried.
=/J C. Stressed.
5. Where will the woman stay tonight?
2 A. In the cinema.

B. At the theater.
C. At home.

/= —
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6. What does the woman do?
A. A student.
B. A doctor.
C. A teacher.

7. What are the two speakers carrying now?
A. Boxes.
B. A desk and a chair.
C. Furniture.

8. Where is the newcomer now?
A. In the woman’s office.
B. In the classroom.

C. In the dormitory.
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9. What has the woman been doing since grad-
uation?
A. Studying.
B. Working.
C. Looking for jobs.
10. What can we know about the woman?
A. She hasn’t found a job.
B. She will leave Beijing.
C. She will work as a journalist.
WreE 8 it . m&SE 11 £ 13 &,
11. Why do the two speakers want to go some-
where?
A. They haven’t gone out for long.
B. They want to see the new play.
C. They have nothing to do.
12. What does the woman like best?
A. Plays.
B. Concerts.
C. Movies.
13. What will the two speakers do tonight?
A. Go to the concert.
B. Read the newspaper.
C. See a movie.
Wrss o RMpl. m&ESE 14 E 17 &,
14. Who is the man?
A. A car driver.
B. A policeman.
C. A shopkeeper.

fitv il — %l

HEEN
15. What does the man want the woman to
do?
A. Move her car away.
B. Get off her car.
C. Get into her car.
16. Where is the parking lot?
A. Two blocks away.
B. Around the corner.
C. On the other side of the street.
17. What can we learn from the conversation?
A. The woman blocked the traffic.
B. The woman lost her driver’s license.
C. The woman received a ticket.
Wreg 10 ER#fat . BE S 18 & 20 /@,
18. What does the speaker think of home-
work?
A. It is quite interesting for kids.
B. It is useless for students.
C. It is a major part of study.
19. How many pieces of advice are mentioned?
A. 3.
B. 4.
C. 2.
20. What should you do if you have problems?
A. Put them aside.
B. Ask the teacher.
C. Think about them personally.

Coincidence

A woman was singing. One of the guests turned to a man by his side and criti-

cized the singer.

“What a terrible voice!”he said. “Do you know who she is?”

“Yes,”was the answer. “She is my wife. ”

“Oh,I beg your pardon. ”The man said,“Of course her voice is not bad,but the

song is very bad. I wonder who wrote that awful song. ”

“T did. ”was the answer.



RBITHER

English listening world

fo e
B~ — HERAD % T TIPTS5 Bl . BN R A — /N
MOV ™ litening Gngiisy ~ HITAHY A B.C =ASBEI0 Pk ) e A 06 100 O b 7 ik 4

AR N 7 B . W S8 B BTG T L ARER A 10 B8R e 1) Sk

o] 254G 5 /INFBURI B 52 — /N, g BE 6 A — i

{l = | 1. What day is today?
A. Friday.
- B. Saturday.
l C. Sunday.
S 2. When must the man check out?
i~ A.By 9:00 a. m..
*vg B. By 12:00 a. m. .

C. By 3:00 p. m..
};u 3. What does the woman want the man to do?
‘A A. Return a book to Laura.
B. Borrow a book from Laura.
C. Borrow a book for her.
- 4. Why doesn’t the woman wear the black dress?

N
- A. Because she does not like it.
ﬁ > & B. Because it does not fit her very well.
=/J C. Because it is too formal for the occasion.
5. What does the woman mean?
3 A. She doesn’t want to ask Mr Jones herself.

B. She doesn’t want to work for Mr Jones.
C. Mr Jones might fix the MP3 player.

S —
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6. What is the main reason for having the fair (Thig)?
A. To organize activities for children.
B. To sell local farm products.
C. To make money for the hospital.
7. What will the woman do during the fair?
A. Sell food.
B. Play in a band.
C. Collect tickets.
8. What is the man’s opinion of the auction (¥43&) ?
A. It will be too crowded.
B. It’s mainly for children.
C. It would be worthwhile.
res 7 Epil . BEEIE 1A,
9. How does the man feel about the additional English courses?
A. Difficult.
B. Helpful.
C. Easy.



10. What’s the trouble with the woman?
A. She can’t quite follow her English teacher.
B. She can’t catch up with Mike very well.
C. She can’t agree with her mother on her
English course.
11. What will the woman do next?
A. Ask for her mother’s permission.
B. Register the class immediately.
C. Learn English with the man.
Wreg S M. B&ESE 12 F 14 &,
12. Who is the man talking with?
A. Joan.
B. Mary.
C. Susan.
13. What are the two speakers talking about?
A. Race views of Joan’s parents.
B. Religious background of Joan’s parents.
C. Opinions on mixed marriages.
14. Which of the following is Joan’s father
concerned about?
A. Joan’s real feeling.
B. Mark’s citizenship status.
C. Mark’s salary.
Wres 9 RAMELEESE 15 E 17 &,
15. How many artists are mentioned in the
conversation?
A. Three.
B. Four.
C. Five.

X1 E1R

hEE
16. Where is the National Museum located?
A. On the 86th Street.
B. On the 68th Street.
C. On the 5th Avenue.
17. What can we learn from the conversation?
A. It is enough to take half a day to go
through the exhibition.
B. The man will buy some reproductions
for his mother.
C. The woman may come from Sweden.
Wreg 10 A, mEE 18 & 20 @,
18. Why do students in universities usually
take examinations?
A. To prove that they are fit for further
studies.
B. To get the qualification for future work.
C. To classify the students into different
grades.
19. Why are office workers required to take
examinations according to the talk?
A. Because they can show whether they
are smart enough for harder work.
B. Because they can show whether they
are fit for their present job.
C. Because the exam results can be used
to set the salary.
20. Which of the following best expresses the
main idea of the talk?
A. The system of examinations.
B. The results of examinations.
C. The functions of examinations.

rHhigs

BT SRR AR R B RV 7 ST By 22 57, X i 2 Wt ) LA REAR
B, XAFTHRERE R AR AW, T B O R R LEFNE B K W AR A
PARATREH ZE4T . T & i IRA ZE = AR e A C B9EiEKF. .
W:John,do you want to go swimming with me today?
M Sure. But I can’t leave now. I have an appointment with my professor at

three o’clock.

Q:Why can’t the man go swimming now?

A. He must meet his teacher.
B. He must attend a class.

C. He must go out with his girlfriend. (A)

1858 [ 55 R 5 BL L 2 25 A I 0 38 U 249 g I ) BRI 18 [ R0, X 2 AR 35 i Y
AR . A8 A B I O appointment, JEAES 252 295 Vil X AR ZHE S
UM BE . T meet BR T 38 UL AR EAN TR (L) ST B R IR R . VBl
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{" ;‘ : 1. How old is the man’s brother?
A. About 28 years old.
B. About 38 years old.

l C. About 48 years old.
N 2. What will the man do this weekend?
= A. Work in his garden.
* - 2 B. Go to the picnic.
C. Go to the company.
};u 3. Why does the woman say “I’'m sorry”?
A A. She has never met the man before.
—— B. The man can’t recognize her at once.
\] C. She has forgotten her meeting with the man.
i 4. What will the man probably do after the talk?
k 3 A. Smoke the cigarettes himself.
/‘% B. Bring his wife the cigarettes.
C. Let Sarah smoke the cigarettes.
4 5. What does the woman think the man should do?

A. Move to another part of the plane.
B. Just smoke like her.

C. Sit where there is a breeze.

S —
55 T 0 R 5 B R, BRI S A LA N W 72 £
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WTEE 6 R#tdl  mEE 6 = 8/,
6. Why is the man so happy?
A. He has got a new job in the government.
B. He has seen his brother and sister.
C. He is going to get lots of money.
7. How did the man’s uncle get his $ 15,0007
A. By selling his land to the government.
B. By opening a hospital.
C. By working in the government.
8. What is not mentioned as a way to do with the money?
A. To put it into the bank.
B. To pay off debts.
C. To buy a house.

10
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9.

How long does the winter last in the
woman’s country according to the conver-
sation?

A. Six months.

B. Four months.

C. Two months.

10. Who spends more money on clothes?

11.

A. People in the man’s country.

B. People in the woman’s country.

C. All the men in the speakers’ countries.

What can we know about people in the

man’s country from the woman?

A. It’s not easy to get along well with
them.

B. They have the same things to worry
about.

C. They needn’t worry about their children.

WEE S EE##l . BEE 12F 147,

12,

13.

14.

What is the problem with the woman?

A. She doesn’t know what kind of shoes
she should buy.

B. She hardly knows what color is suit
able for her grandson.

C. She doesn’t know what size her grand-
son wears.

How old is the woman’s grandson?

A. 8 years old.

B. 9 years old.

C. 13 years old.

What can we know from the conversation?

A. The shoes there are very expensive.

B. The man is very helpful.

C. The woman will waste a lot of money.

fitt il — %l

BRER

Wres 9 RMBL EESE 15 F 17 &,

15.

16.

17.

What can we know about mahjong accord-
ing to the conversation?

A. It is a beneficial hobby.

B. It can become an addiction.

C. It is too boring to play mahjong.
Which of the following is the man’s other
hobby?

A. Collecting stamps.

B. Watching TV series.

C. Collecting science books.

What are the speakers going to do after
the talk?

A. Teach their partners.

B. Learn old card games.

C. Play mahjong games.

WreE 10 EEdrs), m&E 18 & 20 /1,

18.

19.

20.

How old are most American students when

they graduate from secondary school?

A. Fifteen or sixteen years old.

B. Sixteen or seventeen years old.

C. Seventeen or eighteen years old.

Why don’t the parents have to pay the public

school for their children’s education?

A. They are too poor to afford it.

B. Those schools are supported by tax
money.

C. Those schools are supported by rich
people.

What students at state universities will

pay a bit less money for their college ex-

penses?

A. Students whose parents live in that
State.

B. Students whose families are not rich.

C. Students who have part-time jobs.

A father of five children came home with a toy,summoned his children and
asked which one of them should be given the present,“Who is the most obedi-
ent,never talks back to Mother and does everything he or she is told?” he in-
quired. There was silence, and then a chorus of voices: “You ply with it, Dad-

dy!”

11
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{" :‘ } 1. What does the man think of the blouse?
A. 1t’s unsuitable.
B. It’s up-to-date.
l C. It’s old-fashioned.
N 2. What does the woman mean?
= A. She will have hard work.
* : 2 B. She won’t take the test.
C. She will finish the reading.
};u 3. What can you learn from the conversation?
‘A A. The man used to go to bed late.

B. The woman is used to getting up early.

‘ C. People in London are always lazy.
. 4. What does the woman suggest?
k 3 A. They shouldn’t go to the concert.
/‘/ N B. They go to the concert in her car.
C. They go to the concert by bus.
5 5. What’s the relationship between Lucy and Lily?
A. Friends.
B. Classmates.
C. Twins.
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6. How long will the man stay in the hotel?
A. A week.
B. One and a half weeks.
C. Two weeks.
7. Which floor will the man stay?
A. On the eighth floor.
B. On the seventh floor.
C. On the 87th floor.
8. What can you learn about the man?
A. He is on a tour in the city.
B. He doesn’t know much about Chinese culture.

C. He is particular about his living room.
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